Al

Ol &F A

Al A

PA AL
I HHSEEHALY
Rl FRdE HONS (St &)
A -3 - SRA(3H) - HRAE - BES Ofl &F2H I3 A Hwusz
A&t 57,447,765 48,716,331 8,731,434
= 199,000 175,000 24,000
[ 0 270,000 A270,000
£ 746,000 270,000 476,000
[ 5,370, 144 4,599,144 771,000
S 80,000 0 80,000
o 51,062,621 43,402,187 7,650,434
HHSHEHATY 2,725,080 1,870,080 855,000
== 5,100 5,100 0
= 2,719,980 1,864,980 855,000
FOlME NS 2,666,400 1,811,400 855,000
SHEZSS - Jt2S 2 2,266,400 1,811,400 455,000
201 Ler=23 | 466,400 382,400 84,000
2 s5=34l 466,400 382,400 84,000
0332 € MAl 446,400 362,400 84,000
O=ots & It28 MIes
& 444,000,000 444,000 360,000 84,000
401 AlEHIZL SO 1,800,000 1,429,000 371,000
01 Al&HI 1,800,000 1,429,000 371,000
OJI2S - 2o RAE+ 905,000 845,000 60,000
FAEs 2S5 K|
&3 360,000,0002 360,000 300,000 60,000
OXt==g8 =Z2ots 4Xl 100,000 60,000 40,000
Ostd NERE3 7
&3 100,000,000 100,000 60,000 40,000
Ok= It2E 2XE WA
&d&d 374,000,000 374,000 253,000 121,000
OHEXESe 72t HE2S EXSA 150,000 0 150,000
JEI1H S0 2N 400,000 0 400,000
401 Al HIZL S 0HHI 400,000 0 400,000
01 Al&HI 400,000 0 400,000
OEXIH 400,000 0 400,000
2L 24,597,751 21,216,317 3,381,434
[ 0 270,000 A270,000
= 670,000 270,000 400,000
= 1,279,444 1,009,444 270,000
x 50,000 0 50,000
o 22,598,307 19,666,873 2,931,434
T2RA2L 13,624,751 12,018,317 1,606,434
£ 470,000 270,000 200,000
[ 559,444 559,444 0
x 50,000 0 50,000
s 12,545,307 11,188,873 1,356,434
2R 2l 129,380 119,380 10,000
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SA: AL
NI TR
&el: 2RIt EER=E)
SA - BB - SRA(3) - MRAY - BES 0l Ao ol E o timE=FT
03 SRA(PINAHL) 222+ 789,757 723,057 66,700
oczE+3(L2) 789,757 723,057 66,700
O&x3 66,700 0 66,700
WA (Or=r2 &) 50,000 0 50,000
A 50,000 0 50,000
401 AlZHIL 2 0HY] 50,000 0 50,000
= 50,000 0 50,000
01 Al&ZHI 50,000 0 50,000
O1nd gUiits o2 ZFAY[FZHEH] 50,000 0 50,000
= 50,000 0 50,000
SrlFAN S USIHHER 200,000 0 200,000
= 200,000 0 200,000
401 AIEHIYL 20| 200,000 0 200,000
= 200,000 0 200,000
01 Al&€HI 200,000 0 200,000
OU&EX+ B+ FAAXEZ ANSAHAIE
XA 200,000 0 200,000
£ 200,000 0 200,000
ZEAE 5,094,000 4,469,000 625,000
ZEA 4,329,000 3,879,000 450,000
401 AIEHIZL 20| 4,329,000 3,879,000 450,000
01 Al&ZHI 4,320,000 3,870,000 450,000
O=E ALY 4,320,000 3,870,000 450,000
OZ= EXNZYHI(AZ-BH0IS, A3k,
FE=230g 8)
&4 1,010,000,000& 1,010,000 860,000 150,000
OZL7SH(A2-BY) &2 HZIIA
&% 700,000,000 700,000 400,000 300,000
zoR A2 765,000 590,000 175,000
401 AIEHIZL 20| 765,000 590,000 175,000
01 Al&ZHI 765,000 590,000 175,000
O=ERXZeIAY 765,000 590,000 175,000
OxE8sd 2| AT & HEZSA 150,000 0 150,000
O2ASXI7( SH) YsY SHIA 25,000 0 25,000
SHECZZ ALY 3,839,000 3,089,000 750,000
SHEZZAMY 3,359,000 2,609,000 750,000
401 AlEHIZL 2] 3,359,000 2,609,000 750,000
01 Al&ZHI 3,350,000 2,600,000 750,000
OsHEZZ ALY 3,350,000 2,600,000 750,000
OEXN=L4H(E&-8a, 4sniz, 70l
s ) && 800,000,000 800,000 600,000 200,000
OHZ0t2(UI1308) &2 SHEFSA
&4 1,000,000,0002 1,000,000 500,000 500,000
Oti=0tS(114306) MeEEZ SHELYIA 50,000 0 50,000




A AL
MM C2AHAE
o St S2el i A CEEE)
M- - SA(3) - MRAY - BES Ofl kel | & A Hlwsz2
NsTtnS2e| A 2,040,000 1,640,000 400,000
= 0 270,000 A270,000
S 200,000 0 200,000
& 720,000 450,000 270,000
= 1,120,000 920,000 200,000
SaEA A (& EAN) 540,000 540,000 0
= 0 270,000 A270,000
& 270,000 0 270,000
= 270,000 270,000 0
401 A& BIZ 200 540,000 540,000 0
= 0 270,000 A270,000
[ 270,000 0 270,000
= 270,000 270,000 0
01 AlZ | 540,000 540,000 0
OLNHANEFH Szt LAY
28 540,000,000 540,000 540,000 0
= 0 270,000 A270,000
[ 270,000 0 270,000
= 270,000 270,000 0
OIE2=0 2572 HIAY 400,000 0 400,000
£ 200,000 0 200,000
= 200,000 0 200,000
401 AIEHIZL20HY 400,000 0 400,000
= 200,000 0 200,000
[ 200,000 0 200,000
01 Al&HI 400,000 0 400,000
O0rr ZA0EE 02302 25722 A
o) 400,000 0 400,000
= 200,000 0 200,000
= 200,000 0 200,000
SEEHS K 17,503,000 14,541,000 2,962,000
= 24,000 0 24,000
£ 76,000 0 76,000
= 3,134,000 3,108,000 26,000
B 30,000 0 30,000
= 14,239,000 11,433,000 2,806,000
A A | BEE Y 15,251,000 12,591,000 2,660,000
& 1,593,000 1,593,000 0
X 30,000 0 30,000
= 13,628,000 10,998,000 2,630,000
ARIsHIBAIEHE(s2) 1,840,000 1,375,000 465,000
401 AlEHIZ20HY| 1,840,000 1,375,000 465,000
01 Al&HI 1,840,000 1,375,000 465,000




A AL
g sEggs I
ol SY DS (SH9 H2)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
O=ZFH| 805,000 340,000 465,000
OLlYd U=X7 s2 HZFAY
&d4d 320,000,000 320,000 20,000 300,000
Ot H=0ts =2 JHISA 30,000 0 30,000
Octd E2X 7 52 SHEHESA 35,000 0 35,000
O2lat SSX 7 SHIILAIE ZHISA 100,000 0 100,000
ARSI BAIZEHI(SHH+2) 3,045,000 2,710,000 335,000
401 AIEHIL 20| 3,045,000 2,710,000 335,000
01 Al&HI 3,045,000 2,710,000 335,000
osti+=2 3| 335,000 0 335,000
Ottol AIEXI7 Hi=2 EHISAH 35,000 0 35,000
Ootol AEX 7 S+ JHISA 40,000 0 40,000
Odlel RR0ts S22 ZHISA 30,000 0 30,000
Odfcl H=0te Sti+=2 ZHISA 45,000 0 45,000
Ot XISXI= =2 ZHISAH 40,000 0 40,000
O aF17 Eti==2 FHISA 40,000 0 40,000
O& X+ S+ JHISA 30,000 0 30,000
OO0t Zatkl+ S22 FHISAH 50,000 0 50,000
Osoll A=K7 Sti+=2 FHISA 25,000 0 25,000
ARSI EH (SE 1Y) 3,465,000 2,480,000 985,000
401 AlEHIZL 2] 3,465,000 2,480,000 985,000
01 Al&HI 3,465,000 2,480,000 985,000
Osg8+Hg 3,465,000 2,480,000 985,000
O7e "X+ NFA =AY
33 520,000,000 520,000 320,000 200,000
ooty dZEX7 MFA =LA
&4 670,000,000 670,000 420,000 250,000
ONE tSX7 MFX ZdAE
Z& 750,000,000 750,000 550,000 200,000
ON7 S&E NEX LAY
& & 400,000,000 400,000 150,000 250,000
Olld REXNT =S+ HLSA 30,000 0 30,000
Ootol AEX 7 S22 HHISA 35,000 0 35,000
o7 SUX7 S22 JHISA 20,000 0 20,000
A2 SHIBAIEEEI (AR A) 810,000 515,000 295,000
101 2124 87,500 0 87,500
04 M2 2 RS2+ 87,500 0 87,500
OAFX MYEHI01(2124H]) 87,500 0 87,500
O1d AFX MEEHID 4,000 0 4,000
Oatet AFX MYZHID 3,000 0 3,000
Ootd AFX MLEZHD] 2,500 0 2,500
Oottol AF X MLZHID] 5,500 0 5,500
Oafel 2FX M2 5,000 0 5,000




A AL
g sEggs I
ol SY DS (SH9 H2)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
Ot 2FX 2D 6,000 0 6,000
Og8 48X MESHID 3,500 0 3,500
OZ2 28X Y2 5,000 0 5,000
OM&E AFX MLEZHD 7,500 0 7,500
O7e AFX MYZHD 9,000 0 9,000
O218 2FX HL2HID 7,000 0 7,000
ObtY AFX MEZHID 9,000 0 9,000
Ol 2FX MYEHID 7,500 0 7,500
ONHF AFX MLEHD 13,000 0 13,000
201 Zet2d] 87,500 0 87,500
01 AlR2teldl 87,500 0 87,500
OAFX MYEHII(ZHIZRY) 87,500 0 87,500
O1d AFX NYZSHIJ| HHISR 4,000 0 4,000
Oafdt AFX M2l ZHI2X 3,000 0 3,000
Octed 27X M2l HHI2x 2,500 0 2,500
Ootol 27X M2l HHILI 5,500 0 5,500
Odfel A8 MSZSHIJI HHISR 5,000 0 5,000
OUJt AFX MSZHIJl HHIKR 6,000 0 6,000
O 27X M2l HHILX 3,500 0 3,500
Og2 27X M2l HHILX 5,000 0 5,000
O 2FX HML2HI| HHILI 7,500 0 7,500
O=2t AFX MSZSHIJ| HHISR 9,000 0 9,000
O213t 27X M2l FHIX 7,000 0 7,000
OO0t 27X M2l Xt 9,000 0 9,000
Ol 27X M2l FHIL 7,500 0 7,500
ONE AFX MSZSHIJ| HHISR 13,000 0 13,000
401 AlZHIL 2 CHY] 635,000 515,000 120,000
01 Al&HI 635,000 515,000 120,000
OAFXIEHI 120,000 0 120,000
Ot Lat=aFX HHISA 50,000 0 50,000
ONE ZSARX ZHISA 30,000 0 30,000
ONFE SE2MA S==AlE EXSA 40,000 0 40,000
ARSI ELEEH(ESF=5FY) 175,000 125,000 50,000
401 AIEHIL 20t 175,000 125,000 50,000
01 Al&HI 175,000 125,000 50,000
O=gr=Fg4xl 50,000 0 50,000
Odfel 287 =EF=Fd EXISA 50,000 0 50,000
I ZMEI T SUES) (MEAL) 1,820,000 1,320,000 500,000
401 AIEHIZL 20| 1,420,000 920,000 500,000
01 Al&HI 1,420,000 920,000 500,000
OIS B EZ SHELFAY
33 1,420,000,000& 1,420,000 920,000 500,000




A&
sEEAst XY
SR BHEH EER=E)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
HEAAAS (SLIIEAIEFHI) 30,000 0 30,000
= 30,000 0 30,000
401 AlZBIL S THYI 30,000 0 30,000
= 30,000 0 30,000
01 Al&HI 30,000 0 30,000
OsIIBAIE FHI 30,000 0 30,000
ONE otEX 7 S22 HHISAHFEE
gd] 30,000 0 30,000
= 30,000 0 30,000
SEXN SR 300,000 150,000 150,000
=Zot0ts |Al2el 300,000 150,000 150,000
401 AlEHIYL S THYI 300,000 150,000 150,000
01 Al&HI 300,000 150,000 150,000
ONF2S0tE iz ¥ S FHIAIG (27
2t) 150,000 0 150,000
S IHoH o e 1,952,000 1,800,000 152,000
= 24,000 0 24,000
£ 76,000 0 76,000
< 1,541,000 1,515,000 26,000
= 311,000 285,000 26,000
s CHHI =002 (=HI) 30,000 0 30,000
= 24,000 0 24,000
< 3,000 0 3,000
= 3,000 0 3,000
401 AlEBIYL S THYI 30,000 0 30,000
= 24,000 0 24,000
[ 3,000 0 3,000
T 3,000 0 3,000
01 AlZHI 30,000 0 30,000
OJtStHIEs1Y 30,000 0 30,000
ONSZ ofAXI7 ItSUHl EMLA[F
JHgA] 30,000 0 30,000
= 24,000 0 24,000
< 3,000 0 3,000
= 3,000 0 3,000
S CHHI =002 (=HI) 156,000 110,000 46,000
< 78,000 55,000 23,000
= 78,000 55,000 23,000
401 AlEHIYL S THYI 156,000 110,000 46,000
< 78,000 55,000 23,000
= 78,000 55,000 23,000
01 Al&ZHI 156,000 110,000 46,000
O&Al Solititl S04 156,000 110,000 46,000




2A:

=aak

24
REH: ==
[ I =}

=

o

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E

O=gt 3tEXF stolithid] S 23,000 0 23,000

= 11,500 0 11,500

ik 11,500 0 11,500

OO0ty =X X+ SHoitidl S0 23,000 0 23,000

= 11,500 0 11,500

= 11,500 0 11,500

sHIIEHAIE EUIAMY 76,000 0 76,000

S 76,000 0 76,000

401 AIEHIZ 28I 76,000 0 76,000

£ 76,000 0 76,000

01 AlIZHI 76,000 0 76,000

OsIIEAIE HHIAHY 76,000 0 76,000
OXIXM M=Kl Jts ZHelAIAY 25(8

=, &IX) 76,000 0 76,000

£ 76,000 0 76,000

SR & st EY| 12,546,134 11,021,134 1,525,000

= 175,000 175,000 0

& 951,600 476,600 475,000

= 11,419,534 10,369,534 1,050,000

S ZHIALE 12,546,134 11,021,134 1,525,000

= 175,000 175,000 0

T 951,600 476,600 475,000

i 11,419,534 10,369,534 1,050,000

UUIBIEFHI(BX) 1,450,000 500,000 950,000

& 725,000 250,000 475,000

= 725,000 250,000 475,000

401 AIEHIZ 2018 1,450,000 500,000 950,000

s 725,000 250,000 475,000

i 725,000 250,000 475,000

01 A&l 1,450,000 500,000 950,000

O=7¢t FRHAE(S) FHIAY 500,000 0 500,000

= 250,000 0 250,000

= 250,000 0 250,000

ONMHT NEA(DIS2) HUIAIS 450,000 0 450,000

= 225,000 0 225,000

i 225,000 0 225,000

ot I M EHl 627,000 497,000 130,000

401 AIEHIZ 28I 455,000 325,000 130,000

01 Al&HI 455,000 325,000 130,000

Ootd sgd® JIdM ZHIALS 20,000 0 20,000

O3B0l S8 JIdH HHIAIS 30,000 0 30,000

O&fe] ME8240t3211 JIE ME ALY 20,000 0 20,000

OI& F2E JI&H HUIALS 20,000 0 20,000




rar=;
S72XE & ot |
SHE EHIAHY

SA - FE - SRA(3H) - MRAE - Off &4 I8N Hws2
Ozl3t #eHE JI&M HEHIAL 20,000 0 20,000
Osdl 2=& JI8M A 20,000 0 20,000

St s XIZel (XEA) 918,600 888,600 30,000

401 AIEHIZL 2 OHYI 915,000 885,000 30,000
01 AlZHI 915,000 885,000 30,000
Oz2l3t =& SA22IAS 30,000 0 30,000
A0t =7 X2 2,852,000 2,537,000 315,000
401 Al HIZL S 0HYI 2,852,000 2,537,000 315,000
01 Al&H| 2,845,000 2,530,000 315,000
O&cl =4otd FAI2CIALY 35,000 0 35,000
OUIt HXlAotd S22l 20,000 0 20,000
OZd HELCHE SX22IAS 40,000 0 40,000
OZ2 2J|Aotd =2 IASE 30,000 0 30,000
O 340t FA2CIALY 150,000 0 150,000
o0ty BRAoE FXI22|AMY 40,000 0 40,000
OIFEHXIEH 500,000 400,000 100,000
401 AlZHIZ 2018 500,000 400,000 100,000
01 AlZHI 500,000 400,000 100,000
OIEXI+ StETHOHUH A OIZ=EHXI
(28 2HA) 500,000 400,000 100,000
Hess(A8D) 8,000 0 8,000
SEXE(HEn) 8,000 0 8,000
ZEHIEXESEE3 8,000 0 8,000
802 Btet= DI Et 8,000 0 8,000
02 Al - EHIEXSEtet= 8,000 0 8,000
OZHIEXZ Etets 7,080 0 7,080
OkHIEX=z Btets OIkt 920 0 920




